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- 7,200
S0 A 14,400 10,500 3,900
Al 7,200
- 7,200
1)EMEE 800,000&* 185 14,400
Al 7,200
- 7,200
FHSZINE (2 EUX| S HL/ KIAUTA) 5,700 5,700 0
HECIIAHOIE 0t 5,700 5,700 0
HEZITIAHOIE o L XFARA AME o Y& 5,700 5,700 0
201 LEt2AH| 3,700 3,700 0
01 AtR2teld| 3,700 3,700 0
=01 A 3,700 3,700 0
DADINMESIHE 2org
0,000 x5 *x23| 700
NEELIDIAHONA EEE HZ
3,000,000 & *14! 3,000
203 HR=AH| 2,000 2,000
03 AIZE=RIH =AY 2,000 2,000
=20 Al 2,000 2,000
DNEEZITIAHOIE ol RF=X
2,000,000 2,000
S 2AAY|(DJIEHDIEH 57,424 56,788 636
Ol SAY| (XL E M D) 43,034 41,838 1,196
OIS AH| (XIS E M) 43,034 41,838 1,196
101 el4| 41,406 40,346 1,060
02 JIEt& 2 41,406 40,346 1,060
=0 A 41,406 40,346 1,060
DAIZHEERRIL DM OF= (35A12H) 41,406
2)H =M 2,300,000+ 1¥~12& 27,600
)=
48,550,000+ 123 6%+ (35A1 2+ /A0 Al 2H) % 2,593
1.017
2)I =44 120,0002x 1 x 128 1,440
2) M I AIH| 140,000& x1H 128 1,680
)52 1,578,000& 1,578
2)AI2IRI 2R 4=E
9,316&*1H*30A| 2H+ 128 3,354
2)H 2 A
2,300,000%*1':’04*91/\|3*1/7*84%*86%*:13(/) 720
2)EE 2 2,441
JNHAUEBE 3,100,000& x 1 *12& *x3.545% 1,319
JEAIQUYLEE 1,319,000& *12.81% 169
NNEL2E 79,4003 x1H*12& 953
204 2R AH| 1,628 1,492 136
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2A: NEZ R
FE: #m 224yl (OlElIIE)
Sl olESAH|(XIEE M) (=)
SH - B S9(3H) - NRAY - BES S SR HIDS2
02 =22 | 1,628 1,492 136
=0 A 1,628 1,492 136
NESEZHI(AIZHEEHIADI M 0=, 35A1
24) 155,000 *(35A1 2H/40A 2H) * 12 » 122 1,628
[2Z8I(XISZH) 14,390 14,950 A560
J12A(XLE M) 14,390 14,950 A560
201 LEt23d| 10,790 10,750 40
01 AtS2teltl 10,790 10,750 40
S0 &t 10,790 10,750 40
NEHZIAMREEHI 10,0002 x26H 43| 1,040
1) M A HIZY| 1102 %5, 0000H 550
1NAIDS HEY 2002 *5,0000H 1,000
NEA SRIE 2€ M 802 *5,0000H 400
NEMB2AX 7 40,0003 #6548 Kt 200
Nl sl
200,000 =2CH =43 1,600
NEAD EH 2¢ SXl2teld|
250,000 *2CH =43 2,000
NESRHE I M= 1,000,000 45 4,000
203 SR F&| 3,600 4,200 A600
M EA2IHRFA 3,600 4,200 AB00
204 & 4,800 4,200 600
1)302! Olat 400,000& x12& 4,800
SHSO0IM ( 3,600) 4,800) A1,200)
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